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Booklet A (60 MARKS)

For each question from 1 to 30, four options are givers. One of them is the correct
answer. Make your choice {1. 2, 3or 4. Shade the correct ovai (1, 2, 3 or 47 on
the Optical Answer Sheet.

1. Study live flowchart beiow.

Matiier

. No No
Does it have a L
definite shape? —| Can it be
compressed? B

Yes

F Yes
Is it

walerproof?

Which of the foliowing correctly represents J, K, L and M?

I J K L M
(1) 1 Shadow Cork Cotton wool Mercury
(2) Glass Sheet __Log . Nitrogen Oil
(3) Styrofcam Paper clips Water vapour Alcohol
(4) Plasticing Sponge Light Magnet |

2. May wanted to find out if a plastic wirdmill or 5 paper windmill turns faster
whea the fan is switched on.

Which ons of the iollowing factors should she change to camry out her
investigation? )

{1} The speed of the fan.

{2} Tha mass of the windmilt

3 The material of the windmiii

{43 The number of blades in the windmill

i {Go on to the next Dage)
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Samad carried out an experiment using the set-up shown below.

o, - . e
- - ; e
T
o 1 ! Z
cotlon___f ayion ;J l
thread J thread
AN /L |
/1N /B pan |
& &0
) JiAN ~ iy
feremd (‘% welghts S

He carried cul the following steps:

a}  Add weights, one ai 2 time, (0 each pan until the thread broke.
1)  Record the number of weights that made each thread break.

What do you think Samad was trying to find out?

{1} He was trying to find out which thread is lighter.

(2)  He was trying 1o find out which thread is softer.

{3)_ He was tiving to find out which thread i$ stronger.
(4} He was trying fo find-ouf which thread is more fiexible.

The pot and the stand shown below are made of clay and iron respectively.

{ron

Which one of the statements decribes the materials that are used {o make
the pot and stand?

{1} They are man-made.

(2} They come frem planis,

(3} They come from animals.

(4} They coma fiom the ground.

B

{32 on to the next page)
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<. The diagrams below show the life cycles of som

(1)

@ animals.

(2)

cult . aduli
/"" a dl spiny anteater
oW ~

/ \ ! \= |

young owl ) _ Young
' spiny antealer

. "\ egg ’“K_/ egg
(3) )
adull aduit -
/ crocodile - / cat - /—\
young {

crocodile
e

cal

Which one of the life cycles shown is different from the others?

3 {Go on to the next 5age;




Rosvib SchoolScmestral Assessment IfScience/ Pa/2008

6. Aliplaced 10 mosquito larvae in each of the 4 jars (A, B, C and D) as shown below.

A B C ‘ D
larvae larvae
larvm. larvac
Fs ' rs /s Lo
\ el I —4
pond , Cooled \ﬁ \4\ Sfiery pond s \\"\1“1{ i’ v
waler - boiled - F- oL war S T
o walar - - - pond i_ T
fish \I = l_ - - . wazer\Tf%‘_g - - -
~ X ) J e
et ',-/ . . . - . _. i - ) - ey '

Which jars are most suitable for the iarvae to develop into mosquitoes?

{1) A and B only (2) A and D only
{3) Band C only (4yCand D only

7. The graph befow shows the temperature of a particular place from January to
December.

femperature {(*C)

e ot aal s = ~ PMonih
don Feb Mar Apr Mc, Jun EH| Aug ep Ot Nov Dec

insect X lives in this place. It requires a temperature of between 32°C and 34 °C
for at least ona month to develop from an egg into an aduit.

Which of the following months are suitable for Insect X to breed?

(1} January to March (2} April to Jduly
(3} August to September (4) May to December

4 {Go on o the next page) -
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8. Study the classification {able below.

[ Life cycle of animals J

|

| o Ta

’ 4 stages I

l S i
| 1 | -
[ i:ay eggs on ] ’ Lay eggs inJ (Lay eggs or;j l Lay eggsin |
land water _ land ' waler J
| | l |

Grasshopper P~ - Q Mosquito

What are P and Q likely to be?

P G
(1) Toad __Chicken .
(2) Guppy Ant '
(3} - Frog Butterfly
(4) dragonily Cockroach

5 {Go on to the next pa

(o]
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Ahmad put 25 radish seeds in a pot. He walered ihe seeds and put ine pot next
to the window. He observed the germination of the seeds and recorded his

observation in the table below.

Day | Number of radish |
seeds already
_._germinated

3

4

WIN| =t

2

18

24

Ahmad used the above data to plot a bar graph.

correct graph?

M

Germination of Radish Seeds

30 4
25 1
20 [—
15 4

i0 4

Number of seeds

24

]

Which of the foliowing is the -

(3)

Number of seeds
.y
{h
(1

(2)
Germination of Radish Seeds
30 -
W 257 .
2 204 ]
i
T 15
g 10 -
= |
Z 5
oL LI L —
1 2 3 4 5 g
Bay
(4)
Germination of Radish Seeds
30
1
25 -
¥ I
£ 2G -
2 i
5 15 {
3 H
510 I ]
- i
5 [ i i
IR IR

(=1

{Go 6n to the naxt paue) -
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10. The graph below shows the growth of a plant.

%

§
| [
Height T N
Of — ] T ="
Plant i ‘
{cm)

_ . Number of weeks

What does the graph el you about the plant's growth over § weeks?

(1) The plant grew taller.

(2) The plant grew shorter. -

(3) The plant did not grow at all. ’

(4) The plant stopped growing after the second week.

11.  Four similar plants A B, C and D were each grown it a pot. Each of the pots
was trealed differently as shown in the table below.

Plant | Air | Suniight | Water
A Absent Present Absent
i B Present | Present | Present
C Present Absent Present |
D Present Present Absent |

Which two plants would you choose to show that water is important for the
growth of plants? '

{1 A 'and B only (2) A and C only

£\

127 B and C only {4) B and D only

7 {Go on to the next page)
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12, Dick placed some tomato seeds in four different trays containing soil. He kept
the trays along the corridor of his flat.

Water filled to the top of the
tray
P I 5 a
i

4

! o o ¢ 'Qj— seed —

1
Soil that is _ = -
watared everyday

) Waooden
oo s ed o tid
1

R | [ Soif that is
g’ - L. ‘J ,'.____.__—____ — not
| 0. 04 a .5 — Sail e o 0 watered
I R i with HopRL S

9

Which tray of seeds would germinate after a few days?

(1) P and Q only (2) P and R only
{3) Q, Rand S only {(4) P, G and R only

13. Study the diagram shown below.

10m3of 3

s 10 m of A

po

What could substance Aznd B be ?

A 8
(1) j Cork Rubber
{2y | Styrafoam 1| iron
(37 |lon . { Styrofoam
(4) | Rubber iron

8 (Go on io the next page;
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14, Joyce wanted to find the mass of a metal block while Kenny wanled to measure
' the volume of rain water he collected overnight. Which of the apparatus shown
below should they use?

A B C
. ]

| - [

: S [

I N

| | |

;-__ fLm iy £ i\_.

Measuring cylinder Weighing scale Test tube

15, Tania made three different shapes, one at a time using the same dough.

Play dough

Mass = 48 g
Volume = 18cm3

She measured the mass and volume of each shape. She recorded her results in
a table.

Which of the following shows the correct results?

(D) { Shape | Mass Volume | (2) [Shape | Mass |Volume
ofiplay | (g) | (cm®) ofpiay | (g) | (cm?)
dough L ] decugh
Ball | 48 18 Ball 48 18
Boat 28 8 _Boat 48 18
Bone 58 25 Bone 48 18

3
Shape | Mass |Volume| (4) FShape Mass | Volume
ofplay | (g) | (cm®) | ofplay | (g} | (em?)
dough | f dough
Ball 48 i8 | Bail - 48 18
Boat 68 48 _Boat 88 38
Bone 88 28 Bone 28 8

9 (Go on o the next page)
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16. Jack used a pail to collect water till it

s brim. He measured the mass of the pail as
he filled it with water. :
He represented the relationship between the volume of water and the mass of the
pail in 3 graph.

Which one of the following graphs, represents the relationship correctly?

(17 (2}
@ 4 @ 4
L2
3 2 :
= =
Volume {m!) Volume {(ml)
(3) A (4> JP. - )
= S
@ Py
L7Z] “
© ©
= = | .
Volume {(mi)
Volume (mi)

iG -{Go on to the next page)



Rosyth Sclhiool/Semesiral Assessment {iScience/P4200%

17. The flask shown below is filled with air.

7l

air

Four pupils argued that the air in the flask is considered matter for different
reasons.

Amos : The air is Matter because it is colourlfess and odourless.
Benny: The air is Matter because it has mass and is colourless.
Cathy : The air is Malter because if has mass and occupies space.
Deon : The air is Matter because it occupies space and is odourless.

Who has given the correct reasons?

(1) Amos only (2} Cathy only
(3) Benny and Deon only (4) Amos and Cathy only

it ' (Go on to the niext page)
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18. Containers A, B and C are hung on a balancing beam as shown in tha diagram
below. The combined mass of Containers A and B is equal to the mass of
Container C. A hoie of equal size is drilled through the bottom of each container
and stoppered with a cork. Lastly, 500mi of water is poured into Container C and
250 mi of water is poured inic Containers A and B each.
same distance =
T —=l - — Balancing
CZ[i]? PR | I R . T T~ beam
[
& A
- [/ A i S 5 / C .
250 mtof 4 Zo0mi of ) | 500mi of
water e A« water I_ BEREPRE = S water
A RS
cork cork

19.

What can be observed when all the corks are pulled out at the same time?

(1) Container C kept moving up and down.

(2) Container C moved down and stayed there.

(3) Containers A and B moved down and stayed lhere. .
{4} Containers A and B moved up and slowly returned to its original tevel.

Study the table shown below. The tick {v') indicates a property present and a
cross (X) indicates a property absent.

Nitrogen { Smoke Olive oil ice cube
Has mass v X v v
Occupies space v v v v
Has a definite shape X X X X
Has a dafinite volume X ! X v v

Which matter are incorrectly classified?

{1} Ofive o¥f and Nitrogen {2} Smoke and Ice cube
{3} lce cube and Nitrogen {4} Nitrogen and Smoke

i2 (Go on o the next pags} -



20, ¥en conducled wo expenimants as shown Below,

21

Hamyile School®Semearal Assegiment Sgicnca P47 10008

Experiment )

e b blows aic inta the nveried

— i —

What de these two expenmants show?

(1) Only air can be compressed.
{2) Water cannol be compressed,
{3) Solid, iquid and gas occupy space.

N —— B e s

Experiment 2

Whan he dicps a metal ball icta ihe

Deaker, the waler lovel nses,

s L o ol PSRRI

o s o o e e o e —

14} Liquid and gas lake the shapes 5! the conlainer.

Twa plastic battles, A and-B, with their bottoms cul off were pushed inte a basin
of water. Bollle A was capped while B was nol,

Wihich one of the following diagrams below shows correclly the waler level in the

tero boilles?

&
A 2
‘)=1 k

1":.. — i

(3)

13

(2}

(4)

.]:;;@t fl;j?[

L
=
i
1
lJll
11
U

-

{Go on lo the next page)
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22, Which one of these containers can be pushed into the water most easily when
mnverted?

{1) 2

(3) (4) )
k/_ ™ Yy

m apen lin '-‘ﬂ'
= s

14 {Go on 16 the next page)
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.23, Aflask of air is placed above another jar containing a brown gas. The lwo
containers are separated by a piece of cardboard as shown below.

P
P

e — flask

“cardboard

T Drown gas

_ et Y ar

Five minutes after the cardboard was removed, a light brown gas was seen in lhe
two containers.

flask

P ——

cardboard

removed :
—— light brown gas

jar

Which properties of the brown gas are sitiown by the abcve experiment?

*(A) It can be compressed.
B) It has no definite shape.
< 1t has no definite volume.
(i3  Aonly (2) AandBonly
{3} B and C only (4) A,Band Conly_

i5 {Go on to the next page)
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24. Five objects, A, B, C, D and E, of the same volume bul different masses, are put
into a tank of water.

‘The diagram below shows what happens when they are in water.

v § T Tank of
i waler

‘Which one of the following is most likely to be the mass of object £?

(1} 20g (2) 28g
(3) 48g (4) 659

25.  Which of the following statements about energy are correct?

A: It has mass.

B: it does not have volume.

C: It enabies things to move.

D: It can change the states of matter.

(1} A and B only {2) B and C only
(3) 8, C and D only (4)A, B, C and D

16 {30 on 1o the next page}

¢
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26, Refer to the group of objects as shown below.

—
‘ Lens of reading glass

Magnifying lens

Clear wrap plastic

-— —-—

What isfare the comman properties of the material the objects are made of?

A: Fragile

B: Waterproof

C: Flexible

D: Allows most light to pass through
(1) A and B only (2) B and D oniy )
(3YA, Cand D anly (4) B, Cand D only

27, Four cardboard tubes were used to see the toy robot as shown below. The
robot could only be seen through tubes W, Xand Z

. Mirror
2 Toy Robot
2 ‘/E’—\T
b

&

What propenty(ies) of light does the situation above show?

A: Light can be reflected.
B: Light travels in a straight fine.
C: Light can pass through transparent obiects.

{1) Aonly {2} B only
{3) A and B only {4)A,Band C only

i7 (Geo on to the next page)
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Refer to the diagram below. A wall s
stilt able to see it.

eparated Tom from a ball but he was

Mirior

NNy

.
%
9
1 3
B
=il
Tom .

O T Bal

Wall

Which one of the following shows how this was possible?

n

(3)

/LI

TN

LSS

——

3 &

~

(2)

. {4)

LSS

/

[

(Go on to the next page)
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29, Refer to the classification table below.

rMa[e 1als l

S S L I

_— S -
Soectacle lens Ceaeramic F-rosted giass
Clear glass Wood Baking paper
cardboard Tracing paper

Vvhal are the suitable headings for X, Y and Z?

[ X Y <
(1) | Transparent | Transiucent _ Opaque -
(2) | Transpareat | Qpaque _ Translucent
(3 | __ Transtucent | Opaque TI?EQE‘_W?EZ_‘.__{
(4) Opaque __1_____lranslucent Transparent |

30. The experiment shown below was carried out in a dark room.

Hole
Torch /

SheetP  SheetQ SheelR  SheetS

Sheets P, Q. Rand S were amanged in a straight line. When the torch was
switched on, a bright triangular patcit of light was seeq on sheet S,

Which of the iollowing statemenis is true?
(1) SheetQis opaque.

(2) SheetSis transparent.

(3} SheetPis transparent.

{4) Sheet R aliows light to pass through.

End of Beglkist A
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BookletB (40 MARKS)

For questions 31 (o 46, write your answers in this booklet.

37 Study the flowchari below.

’ Stait
¥ Yes - : Yes
. o " Does it allow light N
’ {Joes it break when hit? } > 1o pass through? "1\
No - =
¥ ‘ - N I _NO
FCan it be siretched? ° \
AN,
e S
Yes
A
(a) State one similarity between A and 8. {1m)
{b)  Which letter in the flowchart best represents a.clay tile? {1m)
(c) State one difference between B 2nd C (1m)

20 {Go on to the nexi pags}’
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32 Ah Seng wanted to conduct an experiment {o find out whether the
material he used o make the saii would affect the dislance travelled by
his sailing boats. He made 2 styrofoam sailing boats as shown below.

His teacher told him that his test was nct a fair one.

’—\ Cioth sail r& Paper sail

N\

Styrofoani body

N NS

Sailboat A Sailboat B

_'(a} What can he do to make his test a fair one? : (1m)

{b) Ah‘?}.‘;% thought of using wood to make the sailboat body instead of
styrofoam. State one advantage wood has over styrofoam. {(1m)

24 {Go on to the naxt page)
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{a
QT T, - _
e = s =
_}\@ X AR

(a) Arrange the diagrams to show the order of the lifa cycle of the frog. The first
one is already done for you. B

(b) Basedon the diagram, what chan
into a frog?

(1mj

ges can be seen when a tadpole grows
(1m)

{Go on to the next page}
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34. The diagram below shows a chicken 2gg and a seed.

4z i
/

Egg Bean

{a) Inwhat way are the egg shell and the seed coat similar in function? {(1m)

'
(b} The diagram below shows the parts of an egg.
Egg white

Air space

Which part{s) has/have similar function as the seed leaves in a germinating
seed? (1m)

I
Laa

{Go on 1o the next page)
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35. Farmer Tan grew some cucumber plants from cucumber seeds in his plot.
He harvested the {ruits al the 1% harvest and sold them at the market. He
repeated this process till the 3" harvest.

The table below shows the 3 harvests he had done.

Numberof |  Numbercf | Average length
Harvest | cucumber cucumber of each
plants grown harvested cucumber (cm) [~
1 40 128 20
PIG 40 96 } 16 B
3¢ 40 65 14 ]

{a) What happened to the number of cucumbers harvested as ithe number of
harvest increased? {(1m)

(b} Farmer Tan found out that the longer the fruits, the more the money he
recetved when he sold them.

Do you think Farmer Tan should do a 4™ harvest? Explain why. (1m}

24 {Go on to the next page}
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36 Ahmad studied the relationship between the mass of the seed leaves and
the height of the seedling using the granh shown below.

iviass of
seed leavesy
(9)

o

[

.
Ll

- - Height of seedling (cm)

(a) Why did the mass of seed ieaves decrease as the helgnt of seedling .
increase? - - (1m)

(b) Which parts of the seedling would have developed at point P? {1m)

{¢) if Ahmad had measured the mass of the seediings, would it increase or
decrease as the height of seedling increase? {1m)

25 (Go on to the next page})
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37 The two blocks, A and B have similar volume but different masses.

e

Mass of Block A - 80g Mass of Block B - 25 G

Based on the information given above, state whether each of the statemenis is
True, False or Not possible to tell. {(Zm}

- Putatick ( v)in the coirect box.

_ l[ Statement Possible ¢

- te!

-
-~
£
&
T
A
0
[y

e

(a) |Block A'is made of iron and Block B
18 made of aluminium_ o
{b) | 80g of Block A occupies the same

space as 25qg of Block B.

- {c} !Block B has a greater mass than

| Block A o
(d} | Both blocks have identical volumes
but are of different masses due to
[_____j the material they are made of.

38  Angela inverted an emptly plastic cup into a basin of water as shown in the
diagram below. Some water entered into the plastic cup.

plastic cup

\’\ “““““ /. basin of waler

{a) Where would the water level inside the plastic cup be? (1m)

(b), Give a reason for your answer in (a). (G

26 " (Ge on to the next page)
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Suria filed a glass cylinder with some waler, She noliced thal the water lovel i
the glass cylinder rose each iime she pulin a marble.
The diagram below shiows the changes in the water level whoen different

numbeis of marbles were added inio the cyhind

same size.

fU}JJHI'Il![':\l!I'UL’H'h\ui!nduqluu‘un}mxhu}

il

C

il

s

er. The marbles were all of i

Question

32 is continued on Page 28

asas Az LR

{Go on 1o the nexd page)
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ol B weoldd D

Main the watos lzvel cleady will 3n amow uy the dragaem below

11}
i
H o D T
-_..-"1-
b)  WWhy did Suria use a measwring cylinder inslead of a besker? {1}
()  Bdsed on her obsevations, what can she dedude aboul the propeity of 3
maride? {1m}

28  {Ga on to the nexi page)
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- 4G Jason filled a measuring cylinder with 40cm® of water as shown in the diagram
below. When a metal bob was lowered into the cylinder, the water level rose to
the 70cm® mark. When the metal bob together with a cork were lowered into
the cyiinder, the water lavel rose to the 9Gcm® mark.

i .- thread
\ . cork
iz ‘
- - 3 = =
{ — 3 Tl
- 405145

T——-Wwaler

Based on the above resuits,

(@) find the volume of the metal bcb. {1:)

(b)  find the volume of the cork. ‘ {tm)

28 {Go on ic the nexi page}
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41 Mrs Lim wanted to teach her
milk from a can more easily.

she instructed Gloria (o pierc

new maid, Gloria, how to pour oul evaporated
Mrs Lim pierced one hole in her can of milk whife
e two holes in her can of milk.

]
-

Mrs Lim's can

———+ pierced hoie

. —

Gloriza's can

(a)

Who would be abie to pour out the evaporated milk more quickly and easily?

(1m)

(b)  Give a reason for your answer in (a). (2m)

Ll
]
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42 Sally filled Container F with sand and Container G with ptasticine to the brim,

as shown in the diagram below.

/ y / | plasticire

Container Containeg G

She then paured a small but equal amount of water into each of the
containers.

State your obseivaticns for each container. {2m)

. Cornitainer F :

Container G : .

31 {Go on to the next page)
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.43 Two identical beakers filied with equal amounts of water were placed on a
lever batance, as shown in the diagram below.

! ever balance -

(@)  Using the above set-up, state what you would do to show that liquids have

mass. {(1m)
{b) State what you would observe for the action taken in (a). {(1m)
32 (Ge om ic the next pags)
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44 Hashim prepared the set-up below to do an experniment in the science
laboratory.

—

—— glass tubing

\ - beaker

7 basin

- -~ walar

‘The funnel was fixed tightiy to the flask. When water was poured info the
-funnel, only some water entered the flask while the rest stopped flowiing and
remained in the funnel, B

(a)

Based on the observation from the above experiment, state the property of air

(1rn)

What should he do to enable the water in.the funnel to continue to flow into the
flask?

(8]

(1m) .

(c} What would he observe in the Seaker as we_lier in the funnel enters the flask?

(2m)
o

M

33 {Go on to the naxt pagej
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. 45 Harnry arranged 3 cards,( X, Y and Z), with holes in the centre in a straight
line as shown below.

] Card X CadyY Card 2

He put a lighted candle behind card Z and placed this set-up in a dark rocom.

(a}  What can Harry see when alf 3 cards are arranged in a straight line?  (1m) _
(b) What property of light can be shown in the above experiment? {1m)
34 {Go on to the naxt page)
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46 Saily wanted to make a new set of curtains for her living room. She set up the
following experiment to try out a few cloth samples for the curlain.

—

oo

1

-~

iight _
source | Light sensor

- Cloth sampte

The cloth sampies were of the samie size and the experimeni was conducted in a

dark rcom.
@ Other than the size of the cloth samples and the darkness of the room, state 2
other vanable(s) that must be kept constant? (2m}
(b)

The government is concerned about the high cost of electricity and wants to make

- use of light sensors to save cost. How can lighi sensars be used to help control
lighting on the streets? - (2my}
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36)a)The seed ahgg_ghs the food the seed leaves give and the plant
slowly develop the first leaves and thiss; it does not need the seed

e

leaves anﬁg e, the seed leaves will wither dnd.deop.
b) ves, shoots, roots and stem. o

=

- N E T 2
:)The mass would inaréase as.the height of the seed|ifig
Vel @ - . s o

d)T

nnot escape andithe
- l_:;;{-:ﬂ ¥ ' Fins : el X
space; ,%#14.& Ler:is able

E

r::':'..'l" i :"':::: o g
gre‘agcurateito use a measunngic
p] aced By the naih ._F-‘ﬂ'_ETH mall '__ i

OAme's g efifite volime™ g8 e

40)a)Origina .‘Ll!'- level= tafbob=
The volunje ofithe m (Ee (i [ 1 Ny ——
b)90ams-70cms=20cms.
The volumeiof thelcork is 20&/™ s A

P Griftnrd g R E e

’;

= =g e i | R G et T T R
e e el - T R S A T
T ety o O ¢ e il

41)a)Gloria, :“;:55._ ¥ e <
b)More air ente the can with’2 holes. This will push the milk
faster as occupy spa 5

r 4

42)Container F: The water slid through the sand to the bottom.
Container G: The water stayed at the top.

43)a)1)I would pour out the water in one of the beakers.,

2)The level balance will tilt to the beaker which have water.
b)The level balance will tilt to the beaker which contains water.
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44)a)Air can be compressed and occupies space.
b)He should remove the screw chp to let some air enter the

SIo,

c)i)Lh&bubbles came out of the glass tubmg to.the beaker.
_ »gl)The water in the beaker became lesser,
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